Let’s Grub on Some Grass Beetles!

Part 1

Background Information

You are a bird of one type of species (silver beak loon), with variations for beak type.  Your fellow flock has not fed for a while—3 days.  All of a sudden, the flock spots an open field of green grass.  The grassy field has gone through a long wet winter and now it is spring time and the grass beetles are flourishing.  As a bird you notice the abundance of grass beetles and you decide to stop for a quick bite.  As a hungry bird, you must try to consume as many grass beetles as possible before being spotted by predators (cats, humans, etc.). If you fail to consume less than 5 grass beetles, you will starve to death!

Condition

You must use the beak type unique to your bird!  If you do not you will automatically starve!

Results

Fill in the table below with the class data.

	Type of beak
	# of birds
	# of grass beetles eaten
	Average # eaten per bird

	Knife beak
	
	
	

	Spoon beak
	
	
	

	Tweezers beak
	
	
	


Analysis and Conclusion Questions

1.  Describe the variations the birds have.

2.  Which varieties of birds have the greatest chance of survival?  Explain why.

3.  Identify which birds would most likely survive to have more offspring.

4.  In 100 generations, what would these birds look like?  Explain.

5.  If mutation (remember mutations can be passed down to offspring) occurred that would code for a suction beak, and the suction beak worked much better than the spoon, knife, or tweezers beak, explain would most likely happen in 100 generations.

Part 2

Background Information
Because of natural selection silver beak loons only have tweezers beaks.  Your flock stops to eat some grass beetles again.  This time there has been a mutation in the grass beetle color.  There are some grass beetles with yellow color, but now because of the mutation, some grass beetles are green and some are orange.
Condition

The birds must consume as many grass beetles as possible before predators attack them.
Results
Fill in the data table below.
	Color of grass beetle
	# before predation
	# eaten
	# after predation
	% survivability = (# after/# before)

	Yellow
	100


	
	
	

	Green
	100


	
	
	

	Orange
	100


	
	
	


Analysis and Conclusion Questions

You must answer the following question in a complete paragraph on a separate piece of paper.
1. Describe how this activity was an example of how natural selection works.

Choose one of the following to answer in a complete paragraph.

2.  Explain what would happen to the grass beetle population if there was a mutation that allowed a few of the grass beetles to produce a chemical toxic to the birds.  Assume the selective pressures (birds) still act on the population.

3.  Describe what natural selection is and what conditions must be present in order for it to occur.
